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BT 4 HH 5 £ it
B] i3 3m] ;28 AT 300 361 400 761
EARI1TH 1,031 1,164 1,270 2,434
mAET2TH 1,212 1,073 1,416 2,489
A R ET 2,287 2,347 2,558 4,905
BEBRT1TH 552 555 600 1,155
B EET2T H 410 417 461 878
B ERI3TH 320 361 334 695
B ERTATH 524 481 521 1,002
B EBRTSTH 824 895 904 1,799
B EET6T H 367 404 424 828
HiF = HT 549 596 647 1,243
45 KHT 467 530 567 1,097
HHT 1,018 1,124 1,248 2,372
BEHT 50 54 56 110
A K BT 627 728 740 1,468
7 HT 434 446 456 902
RICET 466 502 531 1,033
FORHET 203 195 231 426
RFHT 211 211 242 453
KHET 363 337 380 717
KET1TH 236 244 288 532
XKET3TH 292 346 332 678
KET4TH 889 833 1,028 1,861
fit] LLI BT 2,420 2,794 2,892 5,686
JE LT 981 1,115 1,230 2,345
EHERT2TH 302 437 430 867
EHERISTH 434 531 545 1,076
EHERT4TH 391 456 481 937
EHERSTH 335 395 459 854
EHERT6TH 214 287 269 556
EAERET7TH 167 252 257 509
=Y:i 331 336 389 725
8 [F T 1,562 1,422 1,662 3,084
=i ET 510 547 626 1,173
2l 3t BT 479 590 566 1,156
N =15 101 115 121 236
L EFHET I 641 650 717 1,367
L EFHTER 858 752 862 1614
L HAET 1,966 2,175 2,259 4,434
LFH¥ABT1TH 74 122 121 243
LH¥\ET2TH 159 158 180 338




BT 4 HH 5 £ i
LFEI3TH 152 147 177 324
L¥AET4 T B 168 184 205 389
LFEISTH 216 271 297 568
I == HT 206 217 240 457
M=rET1TH 568 538 564 1,102
JNsFET2T H 543 523 562 1,085
JNSFEIST H 415 438 412 850
M=rET4T H 1,111 1,123 1,139 2,262
I S5k T 591 612 665 1,277
I=F5di) 224 213 252 465
At B BT 31 38 39 77
E[d:) 408 358 342 700
478 = HT 823 937 996 1,933
FHRHET 80 87 97 184
1 2 FF T 330 370 401 771
BEFE1TH 92 118 128 246
BEFE2TH 285 326 338 664
T EHT 130 141 140 281
/N BB T 3,081 3,131 3,331 6,462
1R T 258 291 308 599
YEZF HT 757 745 810 1,555
EXBI1TH 270 253 273 526
=/ LLIHT 221 162 129 291
Hh ek HT 25 25 5 30
T A EHET 10 13 10 23
THHEE1TH 724 680 721 1,401
THHEE2TH 527 564 562 1,126
THHEESTH 818 835 962 1,797
TEHE1TH 188 187 182 369
TEHRI2TH 813 760 880 1,640
TEHRISTH 164 165 187 352
TEHRI4ATH 93 97 111 208
TEHRISTH 221 239 246 485
T HAET 575 606 643 1,249
TET1TH 361 357 376 733
THET2 T H 461 438 488 926
TH¥BISTH 202 198 229 427
THABTATH 154 150 184 334
TH¥BISTH 151 176 191 367
HTAEHET 23 21 9 30
ikl 194 202 195 397
#8)11 BT 45 46 54 100
KT HT 301 322 349 671
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7B KHT 1,681 1,701 1,857 3,558
&)1 HT 273 326 321 647
XLAT1TH 845 779 926 1,705
X#ILET2TH 316 346 364 710
X#ILET3TH 152 158 167 325
1 [ BT 47 63 77 140
hHET1TH 365 393 415 808
hHET2TH 464 483 529 1,012
b HET3TH 438 516 519 1,035
aiEld:) 255 242 287 529
th 2 JEHT 222 213 241 454
ch T 125 127 163 290
TR AHT 766 880 878 1,758
At FAET 882 890 1,028 1,918
75 K ERET 788 979 1,015 1,994
75 2 [N HET 1,657 1,850 1,968 3,818
JBET 804 780 876 1,656
$FHET1TH 531 463 527 990
$FHET2T H 404 396 452 848
¥FHETST B 201 206 227 433
| BT 164 215 220 435
YHET1T B 383 474 499 973
HET2 T B 351 367 400 767
HET3 T B 357 395 442 837
HET4 T B 119 113 142 255
AN ) 980 1,071 1,122 2,193
J\HHT 161 203 198 401
+ A ERT 250 286 323 609
T A HT 1,843 1,898 2,053 3,951
THB1TH 24 22 21 43
T4HB2TH 1,455 1,373 1,348 2,721
T4HBI3TH 190 167 169 336
THBI4ATH 367 307 371 678
T4RB5TH 952 678 966 1,644
T4HBI6TH 606 591 643 1,234
THRI7TH 356 385 423 808
T4HBISTH 390 414 431 845
THRBOTH 393 461 507 968
+4RB13TH 313 354 399 753
AR NBHT 1,975 1,717 1,996 3,713
HARRHET 1,362 1,255 1,243 2,498
HARRK/ERET 292 373 387 760
F AR JEHT 167 173 179 352
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HEZ HH 5 = 5
- WNEL] 133 122 132 254
FH AR hHT 198 222 258 480
FHARAKHET 437 468 500 968
& ARl 324 348 386 734
HARE)IIHT 293 272 306 578
=N ] 108 117 133 250
FH AR JTHT 104 97 111 208
EARERHE 672 578 677 1,255
B K BRHET 385 393 402 795
Edsa] 892 904 1,016 1,920
BEFET1TH 759 733 754 1,487
BEFET2 T H 595 595 681 1,276
BEFETST B 349 412 417 829
AFTET1TH 419 379 424 803
AIFFRT2T B 601 614 672 1,286
AIFTET3T B 608 696 754 1,450
A HT 181 207 195 402
B LH 227 293 315 608
NEL] 793 781 843 1,624
ERL 745 925 925 1,850
= HHT 1,733 1,921 2,025 3,946
HEXHRET1TH 592 648 681 1,329
HETIRET2TH 521 601 661 1,262
HLAREISTH 298 376 372 748
P fx T 320 370 401 771
mERI1TH 1,154 1,130 1,272 2,402
mERI2TH 831 954 1,058 2,012
FA T 1,343 1,397 1,583 2,980
= RITET 529 507 551 1,058
= AHT 345 277 339 616
AR#HT 9 7 4 11
=) 506 577 523 1,100
SHET1TH 710 632 798 1,430
S HET2TH 404 447 468 915
aHEI3TH 854 740 907 1,647
S HET4TH 764 646 842 1,488
E& T 1 1 0 1
J\BRET1TH 207 264 263 527
J\BRET2T B 216 229 228 457
J\BRET3T H 246 292 306 598
1T HT 292 433 415 848
FHeEIBRT1 T H 165 195 207 402
FHREIBRT2TH 302 435 463 898
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FIEIET3 T B 109 176 172 348
EOER1TH 41 65 58 123
EOER2TH 0 0 0 0
FENOERITH 13 11 2 13

=N 88,561 92,212 99948 | 192,160
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